2020 (%f12) £&

— A FHB

H=F MEE
RARE 1 [£1044]
(x=1)(x-2)(x+1) (x +2)
=x-Dx+1) -2 (x+2)
[11]
= (x2-1) (x2-4)
= x1-5x2+4
x*=bx2+4
fR71%
A B C D E F
AV | -1 -1 0 0 0 2
=2 1 1 0 3 -2 -3
F—A10EEE2x, F—0208BE%yLd5L
[2] | HHHsoid
gy = (ZDXLH (D) X1+0x0+0x3+0x (=2) +2x (=3)
Xy 6
1 4
=— (-1-1+0+0+0-6)=— — = —1.
. ( 0+0+0-6) 3 33
FHRA R R 14 4
= 3 :_i':_()(j’]
1x2 3 58 —1.33
MEARE —067

— 131 —



2020 (%f12) £&

— R A e BR R HA

[3]

c0s135° cos30° —sinl135°sin30°

:_lxﬁ’_le
2 2 2 T2
V3 -1
- 2/2
6 =2
4

V6 V2
4
3x —T<x+1<2x+3
{3x—7<x+1 <@
x+1<2x+3 - - - @
Ry
2x <8
[4] x <4 O}
@xh
—-2<x - @
@, @ ofkEFEHZOT
—2<x<4
—2<x<4

— 132 —




2020 (%f12) £&

— R A F R ER A

[1]1[2]% 65 [3]184

(1]

AD=a
AM=DM=
AREER LY
(@

a

2
+

2
_aZ

3

2

a

cosl = s 53
a X
2 2

2%

A

cost = L
3

(2]

sinfd >0& )

c o 1
51n6—§1—T——

_ V3
AH=AMsinf = a X = a

[3]

ADBCOHFES 1%
1 V3 J3

S=—yxax—ra=—

PO T 4 0 £ V1t
3 V6

a?x

4 3

a?

V:LX
3
2

— 3
12 ¢

a

V2
12

— 133 —



2020 (F#f12) £ & — R A e BR R HA

R%E 3 [41045]
h = —5t2+40¢ !
= —5(t2-8¢) e |
=-5{(t-4)2-16 |
= —5(¢-4)2+80
SRR B DI

[1] t=4 DL EXTh=80
FoT, 4BHBTFDOL ZOE X1Z80m

h
N oo 3
—512+40t =60 ‘ ‘
12-8t+12=0
[2] | (t-2)-6)=0
2=1t=6
2 6L T —— g -

2B 6 WHERET

— 134 —



2020 (%#f12) &£ & — R A F R ER A

R4 < 1 > BERLEBESEZEECZE [%1054]
O DOEMOAICTLAEROREETMET S,
00 =3, OM=14&19 A B
1

AB=V9-1=2/2 ) /L

H P Oy

1
[1] 2
0
22

P2LHEMABIZTA LAEHROL L H, EMPHEEMHO MO HEH &7 5,

, 1 1

PH =3~ OM=5~ A nB
, , 1 4

PH=PH +HH :?JFIZT i H ,

! O

1
[2] | APABOIHSI L ’

4 W2

_ 1 _
S—2><2F2><3— 3

— 135 —




2020 (%f12) £&

— R A e BR R HA

R4 < 2 > BRLUIEESEECIE

[1]18x [2]1[3]% 6

A
B F
6EODTHEDNS 3ODTHEE T #AL
[1] =/MIEHs1 ODTELDT E
P, 6x5x4
_6-3 _ _
sCa= 31 T 3xax1 2
2018
A
B F
[2] | HEYE=ZMIE2MH ¢ E
l/
21
A
5 O
1 DOTHAI N L TN =M 1 idH 5 DT 6
[3] | FAEZMARL _%N=fARA0T E
6+2=8
S

— 136 —

o=




2020 (%#f12) &£ & — R A F R ER A

HEE REW
8 1
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® twenty thousand
C [105]
(fE2f5) It was a tiny, one-room structure. It had no kitchen,
and was furnished only with a simple bed and a writing desk.
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( under ) ( way )
( less e .
HIA% (under) (construction)
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to for up
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M
I'm not sure you can do it. It's up to you.
N
I was so happy that I couldn’t put my feeling into words.
fEiRE 6 (%21 x9]
0 P Q R
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